2.0%

ND2

ND2

Odcinek B: Pik. 68,313

Odcinek B: Pik. 65,000

2.0%

2.0%

2.0%

ND2

ND2

Odcinek B: Pik. 55,000

Odcinek B: Pik. 50,000

2.0%

2.0%

2.0%

ND2

ND2

Odcinek B: Pik. 40,000

Odcinek B: Pik. 35,000

2.0%

ND2

ND2

Odcinek B: Pik. 25,000

Odcinek B: Pik. 20,000

2.0%

ND2

ND2

Odcinek B: Pik. 16,156

Odcinek B: Pik. 15,000

20%

ND2

ND2

Odcinek B: Pik. 12,126

Odcinek B: Pik. 11,063

ND2

ND2

Odcinek B: Pik. 9,064

Odcinek B: Pik. 7,527

ND2

ND2

Odcinek B: Pik. 7,510

Odcinek B: Pik. 7,507

ND2

ND2

Odcinek B: Pik. 7,490

Odcinek B: Pik. 5,000

Odcinek "B"

ND1

Odcinek A: Pik. 93,014

2.0%

ND1

ND1

2.0%

Odcinek A: Pik. 85,000

Odcinek A: Pik. 83,018

ND1

ND1

2.0%

Odcinek A: Pik. 78,638

Odcinek A: Pik. 75,000

ND1

ND1

Odcinek A: Pik. 70,000

. 20%

Odcinek A: Pik. 65,000

ND1

ND1

2.0%

Odcinek A: Pik. 55,000

Odcinek A: Pik. 50,000

ND1

2.0%

ND1

Odcinek A: Pik. 43,344

Odcinek A: Pik. 40,000

ND1

ND1

Odcinek A: Pik. 35,000

Odcinek A: Pik. 30,365

ND1

ND1

Odcinek A: Pik. 27,083

Odcinek A: Pik. 25,000

ND1

2.0%

ND1

2.0%

Odcinek A: Pik. 20,000
2.0%

Odcinek A: Pik. 15,283

ND1

ND1

Odcinek A: Pik. 10,000

Odcinek A: Pik. 5,000
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